Nursery/Reception

i ! Is for Trust

E Is for Faith
Is for Believe

What do we see with? What do we trust Jesus with?

Thomas [Finally Believes

O O
What do we touch with?

VY,

We have seen the
Lere Tohn 20 24




Year1& 2

Thomas Fm@ﬂﬂy Believes

Write the vowels - ai o u - in the spaces below

to see how Thomas should have reacted.

Jesus is alive!

N_ d__bt _b
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t!

Help Thomas get to Jesus

Jesus
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"We have seen the Leord

Put marks on
the man to
show where
Jesus’
wounds were.

a0

John 20:25



Years 3 -6

- Themes Finally Believes

DQHEPROMI SESBQUDNAQ

UZIFSTIJRGDSYMNS.I .

NDDILGODYQNCWADOL K Using the words below tell Thomas’ story

EUILVPFXFGY I HKWODO disciples appeared door alive hands side

SDSBCAOOPMHDTTUII R believe

l RCLLBEBSETEPHBATEHL

ROIEYNPBGBGOSMUJYV

SLPSTAQONLMGEKIPOM

RPLSHIPYVAYPRJIYYD

UITLEITULJPSMI SAEKI JL

VASNBWNEKEEGYMSWIO

FFPGPEKKLAFAIUKIJC

KJESDOORSTIRDPSEPZEK

DI NCYDLVNHEEWCLIIE

ELRHAQLGOSNZDBI JD

OHPUREETNMEAOWTZE

ZTYLXRPCVBELIEVEW

Appeared Believe Blame _ . _ _

Blessings Days Disciples Dquu think all Fhe things Jesus did prepared His followers
. ) for His resurrection?

Doors Doubting Finger Circle the proof Thomas said he needed before he could

God Hand Jesus believe.

Life Locked Lord

I\/Iark? N'all Peace T? see 10 roudh bTo be Foly To hea:’ce h7:o Pouch

Promises Risen Room his face s H™ y"fhers his Vo 'S Side

See Thomas

Blessed are these whe have net seen and yet have believed John 20:29
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